2.3 - Single and Double Displacement Caslick

CHEMISTRY

REACTION TYPES - Single and Double Displacement

Single Displacement

e Involves one element replacing or displacing another element in a compound

¢ A metal element will only displace a metal in a compound.

e A non-metal will only displace a non-metal in a compound

e The general equation for a single displacement reaction is:

o FExamples:

CuCl, + Al >

BI'Z + CaIz -
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CHEMISTRY

REACTION TYPES - Single and Double Displacement

Double Displacement

e Involves both elements in different compounds displacing each other or
exchanging places.

e The metals switch places and combine with the opposite non-metal.
e Analogy - two dance couples switch partners

e The general equation for a displacement reaction is:

[ ]

FCC13 + Nazs -

o Examples

AgNO; + NaCl -

Pb(NO:), + KI =
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Types of Chemical Reactions (Part IT): Single and Double Displacement

For each of the chemical reactions listed below, complete the following:
) The type of chemical reaction (single or double displacement)
#  Balance the skeletal equation
1. Sulphuric acid reacts with ron (I1) sulphide to produce iron (1) sulphate and hydrogen sulphide.

[ Reaction type:
#° Balance the skeletal equation: HoZ04 + Fes = FelOy + H=

2. Analkali metal such as sodium displaces hydrogen from water to form sodium hydrozide and
hydrogen gas.
) Reaction type:

#° Balance the skeletal equation: MNa + Hao = NaCH + H:

3 Waluable silver can be recovered from a solution of silver nitrate by adding copper to produce
copper (1) nitrate and a silver precipitate.
) Reaction type:

#° Balance the skeletal equation: A g5+ Cu = CuMOs)z + A

4. Ifwe were to add table salt to a solution of silver nitrate we would produce zodium nitrate solution
and silver chloride.
[X] Reaction type:

#° Balance the skeletal equation: Malll+ A gy = MallOs + AgiZl

5. Potassium iodide reacts with lead (II) sulphate to produce potassium sulphate and lead (II) iodide.

) Reaction type:
#° Balance the skeletal equation: EI+ Ftz04 = K50 + Frlz

6. The metal zinc reacts with tin (II) chloride under high heat conditions to produce zinc chloride and

tin.
) Reaction type:
#° Balance the skeletal equation: Zn+ SnCly =» ZnCly + =1
7. Sodium hydroxide will be neutralized when combined with hydrochloric acid to produce table salt
and water.
) Reaction type:
#° Balance the skeletal equation: MNaCOH+ HCl = MaCl+ HaO

8. Hydrogen bromide reacts with iron (I hydromxde to produce won (IIT) bromide and water.
[ Reaction type:
# Write and balance the skeletal equation: + > +
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# Balance the skeletal equation: Sg Fe — Fes
EQ Reaction type
8.
# Balance the skeletal equation: H,S0y + Al — Alal50y)s + Ha
E Eeaction type:
9
# Balance the skeletal equation: HsPOy4 + MNHOH — (NH4)sPOq4 + HOH
EQ Reaction type
10.

# Balance the skeletal equation:

EQ Eeaction type:
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L) Reaction type:

# Balance the skeletal equation: FoS0g + AllOH) — Ala(504)s + HOH
i Reaction tvpe:
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# Balance the skeletal equation: Na + Cly = maCl
idd Reaction type
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# Balance the skeletal equation: Nal + FoiNOz), — MaNUsz + 2
3 Reaction type
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# Balance the skeletal equation Py + Oy — _ Pails
L Reaction type
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# Balance the skeletal equation: MHyMNO; — HaO + MNL0
[0 Reaction type:
20
# Balance the skeletal equation Caly+ AgNOsy — Ca(NOs)s + Adl




